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QUESTION 1

What does an activity contain? (Choose two) 

A. edges 

B. nodes 

C. states 

D. classes 

E. lifelines 

F. messages 

Correct Answer: AB 

 

QUESTION 2

In the exhibit, which use case needs to have at least one extension point defined? 

A. Use Case A 

B. Use Case B 

C. Use Case C 

D. Use Case D 

E. Use Case E 

Correct Answer: A 
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QUESTION 3

What are some of the important semantics of packages? (Choose three) 

A. A class may be owned by multiple packages. 

B. An element may be owned by at most one package. 

C. The public contents of a package are accessible outside the package. 

D. The public contents of a package are not accessible outside the package. 

E. If a package is removed from a model, the owned contents are removed. 

F. If a package is removed from a model, the owned contents are reassigned. 

Correct Answer: BCE 

 

QUESTION 4

In a UML 2.0 interaction diagram, what can be accomplished with a general ordering? 

A. order any two events within one interaction 

B. order interactions in hierarchies of inheritance 

C. order the events within a lifeline more flexibly than merely downwards 

D. order message arguments differently from the order of the corresponding parameters 

Correct Answer: A 

 

QUESTION 5

Which icons are a standard representation for an actor? (Choose three) 

A. Option A 
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B. Option B 

C. Option C 

D. Option D 

E. Option E 

F. Option F 

Correct Answer: ADF 
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